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QUESTION 1

Which of the following elements is NOT used in the 5G non-standalone (NSA) deployment Option 3?
A. Evolved Packet Core

B. ng-eNB

C.gNB

D. Dual Radio UE

Correct Answer: A

Reference: https://www.gsma.com/futurenetworks/wiki/5g-implementation-guidelines/

QUESTION 2

Which of the following actions is NOT performed when handling an uplink data packet?

A. UE maps the uplink data packet to a QoS Flow based on QoS rules received from SMF.

B. UE maps the QoS Flow identifier to a data radio bearer based on QFI-to-DRB mapping received from NG-RAN.
C. NG-RAN marks the data packet with the proper DSCP value.

D. NG-RAN removes the QoS Flow identifier from the packet header and forwards the packet over the proper N3 GTP-
U tunnel.

Correct Answer: A

QUESTION 3

Which of the following actions related to slicing is NOT performed during UE initial registration procedure?
A. An AMF that supports the requested NSSAI is selected to serve the UE.

B. AMF receives an AMF set from NSSF.

C. AMF receives a list of SMFs which support the requested NSSAI from NRF.

D. UE receives the allowed NSSAI from AMF.

Correct Answer: B
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QUESTION 4
Which of the following statements about the protection of service-based interfaces (SBIs) is FALSE?

A. The transport layer security (TLS) performs certification-based authentication, providing connection security between
network functions within a PLMN.

B. The OAuth 2.0 framework is used to secure the communication between network functions within a PLMN at the
network layer.

C. The network domain security/Internet protocol (NDS/IP) provides confidentiality and data integrity between network
functions within a PLMN.

D. The security edge protection proxy (SEPP) handles the security of inter-domain SBIs and protects the interaction
between network functions in different PLMNs.

Correct Answer: D

Reference: https://www.broadforward.com/security-edge-protection-proxy/

QUESTION 5

When an idle UE moves from EPS to 5GS, which procedure is performed?
A. Registration

B. Tracking Area Update

C. Initial Attach

D. Service Request

Correct Answer: C

Reference: https://itectec.com/spec/5-17-interworking-and-migration/
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